EARAZROREIERT — 2 N— XBISY —F 20207H8A (k) smEIZHE2H

m77 D) 2R A3 SR EEDE IR
[A&4£] 1 7% :550,000  ~ 23#%&:176,000 @ ~ 3 #&:99,000 4 3#&:66,000 ™ . 5 3&:44,000 9
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
— NN KB = : -1-1- — FHERE (BEHE)
1 s FIT TP K= L 4 4 P g 1.(5_8).9 1-1-1-1 | 40.4 1 ;1520) -
R:g— MR B:Fi~xT7ar«F T7=—ENNTp—L
RPN s SHEX :59. —6-6- . — BriE—A (BEE)
N FIRZZIN Y H 6 LS 1(537 8-6-6-3 | 40.5 5 (4:3; L2l
R:Y=Z24—3=24— B EHFLT— e Ekx
> o7 | BRR— 1:59.8 7-8-7-5 | 40.3| — 10 | 538 |BEAXRK (BHE)
sl 3| b—FKTU—=HI 56.0 (3/4) (o) | BREM
LYK YTYRIR B b=k oIy e =4
= 4 5 | RARFAER 2:00.1 3-3-2-2 |#1.2| — 7 484 | FHRES (BEHE)
A > ) JF—2—L7 54.0 {1 1/2) 8 IR —
N=RRIN> BTA—/ =T HBTr—L
= s 5 | LU 2:00.4 9-10-10-8 | 40.3| — 9 435 |MTEA (BEHE)
5(8/9/7/77 5.0 (11/2) 1) |FE
L:NZ—k1—-X B:IUEZKR>FH =ik
P # o8 | FIRRE 2:00.4 5-5-4-4 | 41.4| — 8 458 | SBRBX (BHE)
6l5/5| 7z b 56.0 (74%) () |HRAHE
R:F1—TA2NNI 8 B:LT1ATTI=ZR (B) #HAEI-FKL—Ya>AET7
3 - _ 4 o9 | HHEA 2:01.1 10-9-8-9 [41.2] — 4 469 | FLE (BHE)
71111 SX/NILVEZ 56.0 3) (-13) [E=ES |
B ALINT Ry TR B3 X /LI —F FE%IS
-3, 5 s 4 | AUUE— 2:01.2 2-2-3-7 |42.2| — 3 497 | ROEE (BHE)
gl7lg|=>/711)— 54.0 (7€) (+1) | AEBHEH
L:XZXHpA=R9114 B:=Z2/I—T7X Bk 14545
_ . 4 4 | BTE 2:02.1 4-4-5-6 |42.9| — 2 436 BEkR (BEHE)
] 4| 71F $B52.0 ) (1) | TRSENER
R:gA4F¥Fv ML BN H O
4 o6 | AEBRE 2:02.6 6-7-9-10 | 42.6| — 6 453 | SiEfEZ (BEHE)
10810 ¥¥ A -2 56.0 2172 oy | E
L:70F—-v B:ILN—-1-3> #HREH IUFCTr—L4
® 1 —F—@EBIERL
1T=7r= 6,8,2,4,5,10,3,7,9,1
2a=5F= 6,8,2,4,5,7,10,3,1,9
Ja=9= 6,2,8,5,4,7,3,1,10,9
43—+ — 6,2,7,5,3,4,8,9,1,10
[ N5
B 6 1904 714K 6-7 440 e E 6-7 310 JEE 3-6-7 18,830M
B B 6 110H9 3-6 2,330/ B = 6-7 1,610M 3EE 6-7-3 43,0604
7 300 3-7 2,690 B H 6-7 1,740
8 1,200

ARICOVWTRDTEEERROODE. TR LI,



